Answers to last issue's Brain Teasers

1. Last weekend I travelled to my sister's house in Hosur, around 250 kilometers away. I started on Saturday morning at 7:00 AM. Traffic was heavy in places, and at times I was stationary. I arrived sometime after lunch.

On Sunday, it was time to make my way home, over exactly the same route.  I left my sister's at exactly the same time, 7:00 AM. However, this time I came straight home without any travel delays, arriving home just before lunch.

How likely is it that I was at exactly the same point at exactly the same time on both days?

Ans: It's not just likely: it is absolutely certain that I was in exactly the same place at exactly the same time on both trips.

To understand this, imagine that I am a train! And that I have a partner train, so when I go from Chennai to Hosur, my partner train is leaving at the same time from Hosur to Chennai.

Since both trains leave at the same time, at some point they will cross (even if one train is a superfast express and the other is a good train). This is because neither train can reach its destination without crossing the other train. At this point, both trains are in the same place at the same time. (At the extreme limit, if one train is stationary, the other train will meet it when it reaches its destination, and at that time, both trains are at the same place).

Now of course, think of me as the trains: one leaving one day and the other returning the next. It doesn't matter that I made the return journey the next day: there will be some point along the way that I will reach on the return journey at exactly the same time as I reached it on the way out to Hosur. This is always true, provided I leave the next day at the same time.

2. There are four bungalows on our dead-end road. They are made from these materials: straw, wood, brick and glass.

Mrs Sarkar's bungalow is somewhere to the left of the wooden one and the third one along is brick. Mrs Umakanth owns a straw bungalow and Mr Tarak does not live at either end, but lives somewhere to the right of the glass bungalow. Mr Wilson lives in the fourth bungalow, whilst the first bungalow is not made from straw.

Who lives where, and what is their bungalow made from?

Ans: This is the usual question that is answered by sorting and elimination. Rewriting the clues, calling the bungalows 1, 2, 3, and 4 from the left, we have:

a. Mrs. Sarkar's bungalow is somewhere to the left of the wooden one.

b. The third one along is brick.

c. Mrs Umakanth owns a straw bungalow. So from the previous clue, she does not live in the third bungalow.

d. Mr Tarak does not live at either end. This means he cannot live in bungalow 1 or 4, and so he lives in 2 or 3.

e. Mr Tarak lives somewhere to the right of the glass bungalow. So from the previous clue, the glass bungalow is to the left of 2 or 3, which means it is the 1st or second bungalow.

f. Mr Wilson lives in the fourth bungalow.

g. The first bungalow is not made from straw. So from clue c, Mrs.  Umakanth does not live in the first bungalow. Also, she does not live in the third bungalow. So she lives in 2 or 4. But clue f says Mr. Wilson lives in the fourth, so Mrs. Umakanth lives in the second one, which is made of straw.

So from clue d, Mr. Tarak lives in one of bungalows 2 and 3. Since Mrs.  Umakanth lives in 2, Mr. Tarak lives in 3 and from clue b we know that it is made of brick.

Now clue f says Mr. Wilson lives in 4, so the remaining person, Mrs Sarkar must live in 1 and their houses must be made of glass and wood.

Now, clue e says Mr. Tarak lives to the right of the glass bungalow. But we have just found he lives in 3. Since we have found that the second is made of straw, this means the glass bungalow must be the first one from the left and so Mrs. Sarkar lives in a glass house.

This leaves Mr. Wilson in the wooden house.

So the answer is, Mrs. Sarkar, Mrs. Umakanth, Mr. Tarak and Mr. Wilson live in the houses from left to right, which are made of glass, straw, brick and wood respectively.

3. Below are six animals that have been split. Take a set of three letters from the left column, and a set of three letters from the right column and merge them together again, without changing the order of the letters in each half. Matching sets will not necessarily be on the same row.

For example WMB + OAT and OAT + WMB both equal WOMBAT as the order of

the letters OAT, and WMB remain the same. For another example, RABBIT

could become RBT + ABI.

    CYO ARU

    WLS DNE

    EAR FEE

    OKY OTE

    RRT JAR

    AGU BVE

Ans: Beaver, coyote, donkey, ferret, jaguar, walrus.

EAR + BVE = BEAVER

CYO + OTE = COYOTE

OKY + DNE = DONKEY

RRT + FEE = FERRET

AGU + JAR = JAGUAR

WLS + ARU = WALRUS 

Adapted from: http://www.brainbashers.com/

